VINTAGE MORTISE 6 REDENTORE 3

RISULTATO SET TOTALE

SQUADRA A SQUADRA X 1 2 3 4 5 SET PUNTI |PARTITE
A XA X A XIAIX AIXIAIXIAI X|A|IX
A [CIBIN X IBERTON 8 11| 7 |11 9 |11 0| 3|24/33,0 1
B | GREGGIO Y |[MERLIN 1171 11 8 | 11 3/0(33(14|1 /|0
DP|GREGGIO-FRANCES. |DP|BERTON-MERLIN 8 | 11/11| 5|11 6 |11 8 3 114130 1 0
C |BERTON Z |GAMBARIN 117 5|11 4 |11/11]6 |6 11| 2 |3 |37(46| 0 | 1
B |(GREGGIO X BERTON 11,8 |8 [11[11| 5 |11| 6 31114130/ 1|0
A |CIBIN Z \GAMBARIN 8 11| 6 |11 9 |11 0| 3|23/33/,0 1
C |BERTON Y |[MERLIN 1117 (1114 11210 3103421110
B |(GREGGIO Z \GAMBARIN 8 11|11, 7 11| 8 |11 8 31114134/ 1|0
C BBERTON X |BERTON 11/4 9 (119 (11118 |11 8 | 3 |2 (51421 |0

A Y 0|0
TOTALI| 20 | 14 |325|283| 6 | 3




